


















Find the missing  :-

1. 16
2. 61
3. 81
4. 15
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Find the option which should replace (?)
4 * 5 = 42
5 * 6 = 56
6 * 7 = 72
7 * 8 = ?

A. 84
B. 90
C. 92
D. 102



Statements: कथन :
Some politician are sinister./ कुछ राजनेता पापी होते हैं।

All sinister is a bureaucrats. / सभी पापी नौकरशाह हैं।

Conclusions: ननष्कर्ष:
I. Some bureaucrats are not sinister./ कुछ नौकरशाह पापी नही ीं हैं।

II. No politician is a bureaucrats. / कोई भी राजनेता नौकरशाह नही ीं है।
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P$Q means “P is the father of Q”. (P, Q का पिता है)
P@Q means “P is the mother of Q”.(P, Q की मााँ है)
P#Q means “P is the son of Q”. (P, Q का िुत्र है)
P&Q means “P is the sister of Q”. (P, Q की बहन है)
P*Q means “P is the wife of Q”. (P, Q की ित्नी है)

Q.1 -Which of the statement means A is the father is law of D?
पनम्न में से कौन से कथनका अथथ है A, D का ससुर है?

(1) A*B#C$D@E
(2)A$C@E#D$B
(3)C@B#A$D*B
(4)D$A@B*D#E
(5)A@B@C&D*E

Question -1 



P$Q means “P is the father of Q”. (P, Q का पिता है)
P@Q means “P is the mother of Q”.(P, Q की मााँ है)
P#Q means “P is the son of Q”. (P, Q का िुत्र है)
P&Q means “P is the sister of Q”. (P, Q की बहन है)
P*Q means “P is the wife of Q”. (P, Q की ित्नी है)

Q.2 Which of the statement means C is the son in law of A?
पनम्न में से कौन से कथनका अथथ है C, A का दामाद है?

(1) A&B@C*D#E
(2)A*C@D&B@E
(3)A@B$C&D*E
(4) A$B@D#C$E
(5) C&B@D&A*E

Question -2 



A+B means A is the mother of B. (A, B की मााँ है)
A-B means A is the sister of B. (A, B की बहन है )
A*B means A is the father of B. (A, B का पिता है )
A÷B means A is the son of B. (A, B का िुत्र है )
A=B means A is the brother of B.( A, B का भाई है)
A≠B means A is the daughter of B. (A, B की बेटी है)

Q-3 Which of the following means P is the aunt of Q?
पनम्नपिखित में से पकसका अथथ है P, Q की चाची है? 

(1) P-R÷Q
(2) P+R*Q
(3) P≠R*Q
(4) P-R+Q
(5) P*R+Q

Question -3



A+B means A is the mother of B. (A, B की मााँ है)
A-B means A is the sister of B. (A, B की बहन है )
A*B means A is the father of B. (A, B का पिता है )
A÷B means A is the son of B. (A, B का िुत्र है )
A=B means A is the brother of B.( A, B का भाई है)
A≠B means A is the daughter of B. (A, B की बेटी है)

Q-4 Which of the following means W is the uncle of Z?
पनम्न में से कौन से कथनका अथथ है W, Z का चाचा है? 

(1) W*A-B+Z
(2) W=A+B-Z
(3) W=A+B+Z
(4) W+A+B-Z
(5) W*A+B=Z

Question -4



A+B means A is the mother of B. (A, B की मााँ है)
A-B means A is the sister of B. (A, B की बहन है )
A*B means A is the father of B. (A, B का पिता है )
A÷B means A is the son of B. (A, B का िुत्र है )
A=B means A is the brother of B.( A, B का भाई है)
A≠B means A is the daughter of B. (A, B की बेटी है)

Q-5 Which of the following means C is the grandfather of D and E?
पनम्न में से कौन से कथनका अथथ है C, D और E का दादा है? 

(1) C*A÷D-E
(2) C+A+D≠E
(3) C÷A≠D=E
(4) C*A*D-E
(5) C÷A*D*E

Question -5



A#B means A is the father of B. (A, B का पिता है)

A%B means A is the sister of B. (A, B की बहन है)

A@B means A is the wife of B. (A, B की ित्नी है)

A*B means A is the brother of B. (A, B का भाई है)

A&B means A is the son of B. (A B का िुत्र है)

Q-6 Which of the following means A is the grandfather of R?
पनम्न में से पकसका अथथ है A,R का दादा है ? 

(1) F&A@J#K%R
(2) U*R%H&A%K
(3) A@H#J*U%R
(4) A@H#K*M#R
(5) A#B*C#R%H

Question -6


